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Answer all the questions.

1 (a) The English legal system is divided into different types of law to deal with different situations.
For example: the criminal law.

Identify three other different types of law.

(b) In a civilised society it is important to have laws.
For example: to maintain law and order.

Explain one other reason why we need laws in the English legal system.
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2 (a) The Court of Appeal (Civil Division) is normally bound by its own previous decisions. However,
there are three main exceptions to this rule.

Identify the three main exceptions to this rule.

(b) Read the following passage.
Fill in the most appropriate terms from the list below:

incorrect
flexible
hospital
misunderstood
prison

strict.

The Court of Appeal (Criminal Division) is bound by the same exceptions as the
Civil Division. However, because the ultimate punishment for committing a crime is
.......................................... , the Criminal Division has to be more ..........ccceeevviiveiiiiiiieieeeeens

Therefore, it is also able to overrule one of its own previous decisions if it feels the law was

[3]
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(c) (i)

(ii)
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In 1966, the Lord Chancellor issued a Practice Statement allowing the House of Lords
(now the Supreme Court) to avoid following their own previous decisions.

Give three reasons why the Lord Chancellor decided to do this.

The decisions of judges are an important source of law.
Explain what is meant by:

Original PreCedent .......... ...
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(d) Discuss how the European Court of Justice is important in the English legal system.
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3 (a) The police are allowed to arrest a suspect under the Police and Criminal Evidence
Act 1984.

Identify the three main points in time when the police can arrest a suspect.

L PP UURPPTTIIN
72T
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[3]

(b) (i) The police have the right to stop and search a member of the public in a street or similar

place.

Describe how the police use their powers in these circumstances under the Police and
Criminal Evidence Act 1984.
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(ii) After being questioned in a street or similar place the police may wish to arrest the
member of the public.

Discuss how the public’s rights are safeguarded during an arrest under the Police and
Criminal Evidence Act 1984.

(c) Select the correct public safeguard for a suspect while at a police station to match the most
appropriate reason. Write the appropriate humber next to each letter in the grid below.

A
C
Public safeguard Reason
A The right to have someone To ensure that the suspect
informed when arrested. 1 cannot be accused of saying
, i something by the police that the
B The right to access legal advice. suspect denies saying.
C The right to have the interview To prevent a parent or spouse
tape-recorded. 2 from thinking the suspect has
disappeared.
To ensure that the suspect is not
3 , . "
kept in unsatisfactory conditions.
4 To ensure that the suspect has
access to a solicitor.

[3]
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(d)
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Tiffany has been arrested and taken to a police station. She is accused of punching her sister
in the face. Upon arrival at the police station she is told to immediately remove her jeans by
a male police officer, and searched. This is done while she is at the reception desk in front
of Klaus, a member of the public. She is later taken to a police cell where Boris, a police
constable, carries out an intimate search of Tiffany as he believes she is carrying illegal drugs.
The permission for Boris to carry out this search was given by Julian the receptionist.

Explain three reasons why the searches carried out on Tiffany were not lawful.
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(@) (i)

9

When sentencing an offender the magistrate or judge must take into consideration the
main aims or purposes of sentencing. For example: the punishment of the offender.

Identify whether the following statements are true or false by putting a tick in the correct
box.

Statement

True False

A | If Sarah robbed a stranger of his wallet at knife-point to pay for an
expensive mobile telephone, the judge would use punishment as
their main purpose of sentencing.

B | If Pablo, the father of a young child, stole baby food from a
supermarket, the judge would use punishment as their main purpose
of sentencing.

C | If Ahmed beats up a stranger because the stranger is an asylum
seeker, the judge would use punishment as their main purpose of
sentencing.

(ii)
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(b) As well as having an important role in criminal matters, magistrates also deal with a smaller
number of civil matters.

Explain the role of magistrates in civil matters.
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